
Y4 – Autumn – Block 1 – Step 4 – Count in 1,000s Answers

Question Answer

1
5,000
Five thousand

2
7,000
Seven thousand

3
a) 3,000
b) 8,000

4 Any 9 of the thousand blocks circled.

5

6 5,000 6,000   1,000   10,000   15,000

7
2 thousand or 2,000
10 hundreds are equal to 1 thousand so 20 hundreds are equal to 2 thousands or 2,000

8 Any 10 of hundred blocks circled.

9
Rosie is correct.
1,000 is divisible by 2 without leaving a remainder so any 1,000 is an even number.

10
a) 9,000
b) 13,000

2,000 3,000 4,000 5,000 6,000 7,000 8,000

9,000 8,000 7,000 6,000 5,000 4,000


